CP731 ONE-TOUCH CLAMPING LOCATORS
=

[cP731-LC| \cp7aj-sc\ Unclamping ‘
(Tapered) (Straight) i

] l@‘
Body Cam Handle | Ball B

2,

SCMA40 steel | Dz D3 | [cP731-SC
SCMAA0steel | g\ ovide inished | SUI2 stel Ds (Straight)
Nitrocarburized L CP731-LC g

Quenched & tempered

ta  (Tapered)

Part Number (';)g) (gggé Ho | D | Hi | D2 | H M Dp | R | Cam Handle
CP7310939LC | 18 |~ | 95| 39 | 30 | 9 | 30 30 | 50 | QLCA0
CP731-0939SC 18
oprttaele| 22 |~ | T e oaes
CP731-1246SC| — | 22 '
CP731-1656LC | 28 -
CP731-16565C | — | 28 | 195 56 | 42 | 16 | 51 |M5X0.8Depth7| 45 | 80 | QLCA-08
Clamping Force | Operating Load | Weight ; "
Part Number (N} (N) @ Locating Receivers
CP731-0939LC 600 60 191 CP735-0939L
CP731-0939SC 189 CP735-0939S
CP731-1246LC 1200 120 297 CP735-1246L
CP731-1246SC 294 CP735-1246S
CP731-1656LC 1800 160 654 CP735-1656L
CP731-1656SC 648 CP735-1656S
How To Use
BMMounting Hole Dimension S ds Ha o
4-dz ze (H7) | (x0.05)| &* | 7| &
5% c0s 2
o= ] i CP731-0939 | 18 10 45 5 8
Il | ! CP731-1246 | 22 | 15 |™ |10
4-ds LC%? CP731-1656 | 28 20 |55]1410
D

-[CP731-0939]: Four pieces of hex. socket-head cap screws M4X0.7-10L How To Use ONE-TOUCH FLEX LOCATORS
-[CP731-1246]:Four pieces of hex. socket-head cap screws M4x0.7-15L  (Hexagon Head / Cam Handle)
-[CP731-1656]:Four pieces of hex. socket-head cap screws M5X0.8-20L



